Yarnspirations

spark your inspiration!

CRARON  ASYMMETRICAL KNIT SHAWL | KNIT

MATERIALS

Caron® x Pantone™ (3.5 0z/100 g; 127 yds/116 m)
Version 1 or Version 2
Morning Blues (01016) 4 braids

Size U.S. 10 (6 mm) circular knitting needle 29" [73.5 cm] long or size
needed to obtain gauge. Stitch marker.

Versions 1 and 2

A - 14-4809 B - 17-5034 C-19-4340 D - 19-4026 E-19-4024

CAKO0126-011673M

M KNIT | SKILL LEVEL: INTERMEDIATE

ABBREVIATIONS

Approx = Approximate(ly)
Center Dec = (worked over 3 sts)
Slip next 2 stitches as if to K2tog.
K1, then pass slipped sts over knit
st — center of 3 sts should be on
top of decrease, 2 sts have been
decreased

Cont = Continue(ity)

K = Knit

K2tog = Knit next 2 stitches
together

Kfb = Increase 1 stitch by knitting
into front and back of next stitch
PM = Place marker

Rep = Repeat

RS = Right side

SITPwyif = Slip next stitch
purlwise with yarn in front of
work

St(s) = Stitch(es)

WS = Wrong side

Yo =Yarn over

MEASUREMENTS
Approx 29" [73.5 cm] deep x
62"[157.5 cm] long.

GAUGE
14 sts and 26 rows = 4" [10 cm] in
garter stitch.

INSTRUCTIONS

Notes:
+ Before working with
Caron® x Pantone™ multi-

shade yarn braid, separate
each color link and wind into

5 separate balls for each braid
1

link  will be

color
referenced by its Pantone™
color # (see label).

« Each
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« Designate each yarn ball

Contrast, A, B, C, D and E as
noted in Materials section (or
as desired).
Due to finite amount of yarn
in each shade, pattern gauge
must be matched to ensure
successful results

Stripe Pat

Version 1

With A, knit 62 rows.
With B, knit 28 rows.
With C, knit 22 rows.
With D, knit 26 rows.
With E, knit 24 rows.
With A, knit 12 rows.
With B, knit 8 rows.
With C, knit 10 rows.
With D, knit 2 rows.
These 194 rows form Stripe Pat.

Version 2

With E, knit 44 rows.
With A, knit 2 rows.
With D, knit 18 rows.
With A, knit 2 rows.
With C, knit 14 rows.
With A, knit 2 rows.
With B, knit 14 rows.
With A, knit 2 rows.
With E, knit 10 rows.
With A, knit 2 rows.
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With D, knit 10 rows.
With A, knit 2 rows.
With C, knit 10 rows.
With A, knit 2 rows.
With B, knit 16 rows.
With A, knit 2 rows.
With E, knit 8 rows.
With A, knit 2 rows.
With D, knit 10 rows.
With A, knit 2 rows.
With C, knit 14 rows.
With A, knit 2 rows.
With B, knit 4 rows.
These 194 rows form Stripe Pat.

Both Versions:

Note: Move marker up each row
on marked st.

With A for Version 1 or E for
Version 2, caston 1 st.

1st row: (RS). (K1. yo. K1) all in
stitch. 3 sts.

2nd row: K1.P1.K1.

3rd row: Kfb. K1. Kfb. 5 sts.

4th row: Kfb. K1. SITPwyif. Kfb. K1.
7 sts.

5th row: Kfb. K1. Center dec. PM
on last st. Kfb. K1. 7 sts.

6th row: K3. SI1Pwyif (marked st).
K3.

7th row: Knit to last 2 sts. Kfb. K1.
8 sts.

8th row: Kfb. Knit to marked st.
SITPwyif. Knit to last 2 sts. Kfb. K1.
10 sts.

9th row: Kfb. Knit to 1 st before
marked st. Center dec. PM on last
st. Knit to last 2 sts. Kfb. K1. 10 sts.
10th row: Knit to marked st.
SITPwyif. Knit to end of row.

First 10 rows of Stripe Pat are
complete.

Keeping cont of Stripe Pat, rep
7th to 10th rows until there are
124 sts, ending on 10th row.
Next row: (RS). K2tog. Knit to last
2 sts. Kfb. K1.

Next row: Kfb. Knit to marked st.
SITPwyif. Knit to last 2 sts. K2tog.
Next row: K2tog. Knit to 1 st
before marked st. Center dec. PM
on last st. Knit to last 2 sts. Kfb. K1.
Next row: Knit to marked st.
SITPwyif. Knit to last 2 sts. K2tog.
Rep last 4 rows, keeping cont
of Stripe Pat, until Stripe Pat is
complete. Cast off.
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Version 1 Version 2
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